Virginia High School League

Scholastic Bowl, 2002-03 season

State Competition, Match #9

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell, Adam Fine and Chris Moretti are the authors of these questions, which were also edited by Samer Ismail.

All participants and spectators must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
It began in earnest after its founder listened to some James Brown songs and Jimi Hendrix riffs.  That man added an electric piano to his jazz quintet, and began to play an amplified trumpet; hardcore jazz critics called the style “bastardized,” but the album Bitches’ Brew sold half a million copies.  For ten points, what style of music did Miles Davis create by combining jazz and rock elements?

ANSWER:  jazz-rock fusion (prompt on “Davis” until mentioned)

2.
For ten points, what Teutonic tribe followed the lead of the Visigoths by sacking Rome in 455 CE, earning their name because they destroyed a lot of buildings and left with most of the imperial treasures, including the empress and her daughters?

ANSWER:  Vandals
3.
J.K. Huysmans’s novel Against the Grain and Oscar Wilde’s play “Salome” (SAL-oh-may) were two literary examples of, for ten points, what genre, a three-word French term meaning decadence that often referred to late nineteenth century cultural works?  

ANSWER:  fin de siecle (FAN duh see-EH-kluh)

4.
For 10 points, what word describes a group of individuals that run the government, especially after a revolution or coup d’etat?

ANSWER: JUNTA (HOON-tah)

5.
In birds, this organ is lined with a hardened layer of keratin, that prevents damage to the muscle layers while grinding food.  Also found in crocodiles and earthworms is, for ten points, what thick-walled section of the stomach, located below the crop?

ANSWER:  gizzard

6.
Tax revenues collected at a tax rate of 0% are of course zero. Tax revenues collected at a tax rate of 100% are also zero. The peak tax revenues are collected at some point in the middle, and therefore tax revenues could increase if tax rates are cut. For 10 points, what is this “curve” used by supply-side economists to justify the 1981 tax cuts?

ANSWER: LAFFER curve

7.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the average of the numbers 4, 24, 148, 312?

ANSWER: 122
8.
Headquarters to a national oil company, a pedestrian bridge on the forty-second floor connects the two buildings of this complex.  Designed by Cesar Pelli in 1996, for ten points, what pair of buildings in Kuala Lumpur, Malaysia passed the Sears Tower as the tallest in the world?

ANSWER:  Petronas Towers
9.
This two-word phrase can describe a subversive group or device placed in enemy ranks, such as a piece of malicious code in an otherwise legitimate computer program. For 10 points, what is this term that gets its name from a hollow wooden animal the Greeks used to win a war?

ANSWER: TROJAN HORSE
10.
As opposed to natural selection, a deer’s antlers and a pheasant’s tail are two traits related, for ten points, to what evolutionary term denoting advantages that certain members of a species have over another when it comes to mating and reproduction?

ANSWER:  sexual selection 

11.
“In the beauty of the lilies Christ was born across the sea, / With a glory in His bosom that transfigures you and me: / As He died to make men holy, let us die to make men free.”  These are lines in the last verse to, for ten points, what patriotic poem and song written by Julia Ward Howe that ends, “While God is marching on?”

ANSWER:  “The Battle Hymn of the Republic” 

12.
Thai actress Suwanan (soo-WAH-nahn) Kongying allegedly said that Thailand, not Cambodia, own the famous Angkor Wat temple. This sparked anti-Thai riots in, for 10 points, what city, Cambodia’s capital?

ANSWER: PHNOM PENH
13.
THIS IS A COMPUTATION QUESTION. For ten points, if two parents are both heterozygous dominant for two separate genetic traits, what is the probability that their offspring will be dominant for both traits?

ANSWER:  9/16 (9:3:3:1 ratio)

14.
He also wrote King Coal, an expose of the coal industry, in 1917. For 10 points, who was this Progressive leader that also wrote an expose of the meatpacking industry in 1906, a novel called The Jungle?

ANSWER: Upton SINCLAIR
15.
His wife was Idun; Odin and Frigga were his parents.  The gods drank from his “cup” at the funerals of departed chiefs, while he received the slain heroes at Valhalla.  For ten points, who was this Norse god of wisdom and poetry?

ANSWER:  Bragi
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
What musical period featured the composers Rameau, Corelli, Telemann, Handel, and J.S. Bach?

ANSWER:  Baroque

1B.
THIS IS A COMPUTATION QUESTION. Consider the following polar coordinates: r equals 2√5 and theta equals π/6 (PI over 6). What coordinates does this point have in the Cartesian plane?

ANSWER: ( √15 , √5 )
2A.
What Athenian general improved on the work of Herodotus, publishing the relatively objective and source-laden History of the Peloponnesian War?

ANSWER:  Thucydides (thoo-SID-ih-deez)

2B.
On February 23, 1847, 4700 American soldiers under Zachary Taylor resisted an attack from 20,000 Mexican soldiers under Santa Anna at what battle that ended Taylor’s Northern campaign?

ANSWER: BUENA VISTA
3A.
Someone who studies oology (oh-AWL-oh-jee) studies what objects?

ANSWER: (bird’s) EGGS 

3B.
What philosopher was the founder of positivism? 

ANSWER:  August COMTE
4A.
Carbon to nitrogen ratios of 12 to 1 or higher are common in what dark brown or black component of soil, the partially decomposed plant and animal matter?

ANSWER:  humus (HUE-muhs)

4B.
This language is the second-most common native language spoken in India. What is this language that is the most-spoken language in Bangladesh?

ANSWER: BENGALI
5A.
THIS IS A COMPUTATION QUESTION. Set A consists of the numbers 1, 5, 7, 9, 13, 15, 17, 19, and 22.  What is the difference between the median and the arithmetic mean of set A?

ANSWER: 1

5B.
Children with rickets often get the spasmodic form of what ailment where the voice box is inflamed, causing a sore throat and a hoarse voice?

ANSWER:  laryngitis (lair-in-JEYE-tiss)

6A.
Incredibly, Saxby Chambliss was able to accuse his opponent of softness on national security in the US Senate race in Georgia. Who was Chambliss’ opponent, a former Georgia Senator that is a triple amputee Vietnam veteran? 

ANSWER: Max CLELAND
6B.
THIS IS A COMPUTATION QUESTION. Polynomial A is 5y plus 3 x-squared (5y + 3x2).  Polynomial B is x minus y (x – y).  F of x and y equals A over B (F(x, y) = A/B).  What is the domain of F?

ANSWER: All ordered pairs (x, y) such that x ≠ y
7A.
Located at the junction of the White and Blue Nile Rivers, what city, for 10 points, is the capital of Sudan?

ANSWER: KHARTOUM
7B.
New Orleans is the largest city in Louisiana and Baton Rouge is the second largest. What is the third-largest city in Louisiana?

ANSWER: SHREVEPORT
8A.
What nation, at war with Eurasia and Eastasia, is the home of Winston Smith in the George Orwell novel 1984?

ANSWER:  Oceania
8B.
Joanna Cassidy, Darryl Hannah, and Rutger Hauer all played “replicants” in this film, set in Los Angeles in 2019. What is this 1982 Ridley Scott-directed classic, starring Harrison Ford as a cyborg hunter?

ANSWER:  “Blade Runner”
9A.
What element has the chemical symbol Sb?

ANSWER: ANTIMONY
9B.
One of his earliest novels, The Great Weaver from Kashmir, deals with his disdain for Roman Catholicism, while World Light documents the struggles of a peasant poet. What author of the trilogy about his native country, Iceland’s Bell, won the 1955 Nobel Prize for Literature?

ANSWER:  Haldor Laxness

10A.
THIS IS A COMPUTATION QUESTION. What is the relationship of the measure, in radians, of an angle inscribed in an arc to the measure of the arc?

ANSWER: ½ 
10B.
In a text data file, what name is given to the characters that separate the fields of data, usually commas, tabs or colons?

ANSWER: DELIMITER
Third period: 15 tossups
1.
The first one, signed in 1668, ended the War of Devolution between Spain and France.  The second gave Silesia to Prussia, while Britain and France exchanged Cape Breton Island for Madras.  For ten points, a treaty at what site, now Aachen, Germany, was signed in 1748 to end the War of Austrian Succession?

ANSWER:  Treaties of Aix-La-Chapelle   

2.
For ten points, what character has a wife named Linda and sons named Biff and Happy, but after he is fired from his job, decides to commit suicide at the end of “Death of a Salesman?”

ANSWER:  Willy Loman (accept either name)


3.
It is jointly owned by Sony and Liberty Media Corporation, and offers more than 55 hours per week of interactive television.  For ten points, what cable network features original programming such as “Win Tuition” and “Lingo,” in addition to its classic re-runs of “Press Your Luck” and “Family Feud,” among others?


ANSWER:  The Game Show Network

4.
TWO ANSWERS REQUIRED. Instead of the suffixes –er and –est, for 10 points, what two words are used to form the comparative and superlative forms of adjectives with more than two syllables?

ANSWER: MORE and MOST

5.
Microscopic describes an object too small to be seen with the naked eye. For 10 points, what word describes something big enough to be seen with the naked eye?

ANSWER: MACROSCOPIC
6.
It is set in Connecticut in 1850, but is based on two tragedies by Euripides (yur-IH-pih-deez).  Angered that his mother was worked to death on a farm, Eban Cabot seduces and impregnates his father Ephraim’s new wife in, for ten points, what 1924 play by Eugene O’Neill?

ANSWER:  “Desire Under the Elms”
7.
In writing, it was first mentioned in Norman poet Wace’s Roman de Brut in 1155.  First made by Merlin at Carudel, Uther Pendragon is the first owner, but he gives it to the King of Camiliard, who in turn passes it to Arthur as a wedding present.  Containing a space for the Holy Grail, for ten points, what piece of furniture could seat 150 knights?

ANSWER:  Round Table
8.
THIS IS A COMPUTATION QUESTION. Values 1 through 26 are assigned to letters A through Z in order.  For example, O = 15.  For 10 points, what is the sum of the valued letters in the word “preparer”?  

ANSWER: 97
9.
The planets orbit the sun in ellipses, with the sun at one focus. The radius of a planet sweeps out a constant area over time. The period of a planet’s orbit can be determined using a mathematical formula. For 10 points, for what German astronomer are these three laws of planetary motion named?

ANSWER: Johannes KEPLER
10.
Although it was a tactical victory for the Japanese, costing the Americans one carrier and heavily damaging another, it proved to be a strategic victory for the Americans, as it prevented two carriers from being at Midway and saved Port Moresby, Australia and New Zealand from Japanese invasion. For 10 points, what was this May 1942 battle that helped turn the tide of the Pacific War?

ANSWER: Battle of the CORAL SEA
11.
For 10 points, what adjective describes a substance that can be eaten or broken down by some kind of living creature?

ANSWER: BIODEGRADABLE
12.

Mark Twain remarked that he found the title character of this novel to be “the most wonderful fictional child he had encountered since Lewis Carroll’s Alice.”  The protagonist is a redheaded orphan who is forced to live with a female relative on Prince Edward Island.  For ten points, what novel was first published in 1908 by Lucy Maud Montgomery?

ANSWER:  Anne of Green Gables
13.
His method of counting stars in the field of view of his large reflecting telescopes led to a rough outline of the Milky Way galaxy.  For ten points, on March 13, 1781, which British astronomer detected the first newly discovered planet since ancient times, Uranus?


ANSWER:  Sir William Herschel
14.
It is named after a 7-year old New Jersey girl who was killed by a previously convicted child molester. Recently, child advocacy groups have blasted what they see as lax enforcement of the law. For 10 points, what is this law that requires states to set up a database of registered sex offenders?

ANSWER: MEGAN’S law

15.
It began with a colonial uprising in Morocco on July 17, 1936, but throughout the rest of the year the Nationalists were repelled in the industrial cities by a force led by General Emilio Mola.  Soviets aided the Loyalists, but Mussolini and Hitler supplied many troops and planes. In 1939, the Nationalists won, for ten points, what conflict that saw General Francisco Franco take power?

ANSWER:  Spanish Civil War
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
Passages in this system extend for over 300 miles, and the underground Echo River flows through it.  Onyx and gypsum formations are also prevalent in, for ten points, what western Kentucky cave system, located in a national park of the same name?


ANSWER:  Mammoth Cave
2.
THIS IS A COMPUTATION QUESTION. The Modulo function is often shortened to “mod”. For 10 points, what is 119 mod 7?

ANSWER: 0
3.
This inventor got rich from creating a method of mass-producing muskets. For 10 points, who was the American inventor today more famous for inventing a method of removing seeds from short-stapled cotton, a machine known as a “gin”?

ANSWER: Eli WHITNEY
4.
He won the gold medal in the heavyweight division in 1968, and knocked out Joe Frazier to win the world title in 1973.  The following year, he fell to Muhammad Ali in Zaire, and a loss to Jimmy Young led to his first retirement, but in 1987 he returned, eventually knocking out Michael Moorer to win the belt.  For ten points, what boxing champion now earns millions by endorsing a “Lean, Mean, Fat Grilling Machine?”

ANSWER:  George Foreman
5.
A man named Ruzzante supposedly founded it in the mid-sixteenth century, using Roman Atellan farces and Ottoman puppet drama as influences.  Most actors studied mime in training for performances as zanni in, for ten points, what improvised Italian dramatic form, containing the characters Scapino and Harlequin?

ANSWER:  commedia dell’arte
All questions copyright 2003 by the writers. Unauthorized use, as described on the first page of this document, is prohibited.


